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XFEEBAZYT AW (2000 £ 1 A)

Part 1 Listening Comprehension(20 minutes)

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each

conversation ya question will be asked about what was said. Both the conversation and the

question will be spoken only once. After each question there will be a pause. During the

pause , you must read the four choices marked A),B),C) and D) ,and decide which is the

best answer. Then mark the corresponding letter on the Answer Sheet with a single line

through the centre.

1.

A) To cancel his trip.

B) To go to bed early.

C) To catch a later flight.

D) To ask for a wake-up call.

A) They have different opinions as to what to do next.
B) They have to pay for the house by installments,

C) They will fix a telephone in the bathroom,

D) The man’s attitude is more sensible than the woman’s.
A) She will save the stamps for the man’s sister.

B) She will no longer get letters from Canada.

C) She can’t give the stamps to the man’s sister.

D) She has given the stamps to the man’s roommates.
A) Visiting the Brownings.

B) Writing a postcard.

C) Looking for a postcard.

D) Filling in a form.

A) The man should work with somebody else.

B) The man should meet his partner’s needs.

C) They should come to a compromise.

D) They should find a better lab for the project.



2

6. A) She can’t finish her assignment,either,
B) She can’t afford a computer right now.
C) The man can use her computer.
D) The man should buy a computer right away.
7. A) The visiting economist has given several lectures.
B) The guest lecturer’s opinion is different from Dr. Johnson’s.
C) Dr. Johnson and the guest speaker were schoolmates.
D) Dr. Johnson invited the economist to visit their college.
8. A) She’s never watched a better game.
B) Football is her favorite pastime.
C) The game has been canceled.
D) Their team played very badly.
9. A) The man should stick to what he’s doing.
B) The man should take up a new hobby.
C) The man should stop playing tennis.
D) The man should find the cause for his failure.
10. A) An invented story.
B) A real life experience.
C) An imaginary situation.

D) A terrible nightmare.

Section B

Directions: In this section ,you will hear 3 short passages. At the end of each passage,you
will hear some questions. Both the passage and the questions will be spoken only once. After
you hear a question , you must choose the best answer from the four choices marked A),B),C)
and D). Then mark the corresponding letter on the Answer Sheet with a single line through

the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard.
11. A) The name of a German town.

B) A resident of Frankfurt.

C) A kind of German sausage.

D) A kind of German bread.
12. A) He sold fast food.




B) He raised dogs.
C) He was a cook.
D) He was a Cartoonist.
13. A) Because the Americans found they were from Germany.
B) Because people thought they contained dog meat.
C) Because people had to get used to their taste.

D) Because it was too hot to eat right away.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.
14, A) They give out faint cries.
B) They make noises to drive away insects.
C) They extend their water pipes.
D) They become elastic like rubber bands.
15. A) Quiet plants.
B) Well-watered plants.
C) Healthy plants.
D) Thirsty plants.
16. A) They could drive the insects away.
B) They could keep the plants well-watered.
C) They could make the plants grow faster.
D) They could build devices to trap insects.

7 Passage Three

Questions 17 to 20 are based on the passage you have just heard.
17. A) To look for a different lifestyle.
B) To enjoy themselves.
C) For adventure.
D) For education.
18. A) There are 200 vehicles for every kilometer of roadway.
B) It has a dense population.
C) There are many museums and palaces.
D) It has many towering buildings.
19. A) It is a city of contrasts.

B) It possesses many historical sites.




20.

C) It is an important industrial center.

D) It has many big and beautiful parks.

A) It helps develop our personalities.

B) It enables us to acquire first-hand knowledge.’
C) It makes our life more interesting.

D) It brings about changes in our lifestyle.



XFRBEAHYT (2000 £ 6 A)

Part 1 Listening Comprehension(20 minutes)

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each
conversation ,a question will be asked about what was said. Both the conversation and the
question will be spoken only once. After each question there will be a pause. During the
pause , you must read the four choices marked A),B),C) and D) ,and decide which is the
best answer. Then mark the corresponding letter on the Answer Sheet with a single line
through the centre.
1. A) Buy some traveler’s checks.

B) Borrow some money from a friend.

C) Check the brakes and tires.

D) Spend some time traveling.
2. A) He is very forgiving and tolerant.

B) He probably has a poor memory.

C) He is well liked by his customers.

D) He has been introduced to the staff.
3. A) He thinks the book should include more information.

B) He doesn’t think it necessary to provide the answers.

C) The answers will be added in a later edition.

D) The book does include the answers.
4. A) Announce appeals for public service.

B) Hold a charity concert to raise money.

C) Ask the school radio station for help.

D) Pool money to fund the radio station.
5. A) She talked with the consultant about the new program until two.

B) She couldn’t talk to the consultant before two.

C) She would talk to the consultant during lunch.

D) She couldn’t contact the consultant’s secretary.



6. A) They are equally competent for the job.

B) They both graduated from art schools.
C) They majored in different areas of art.
D) They are both willing to draw the posters.

7. A) At a book store.

B) At an art museum.
C) At a newspaper office.
D) At a gymnasium,

8. A) The woman received a phone call from Mark yesterday.
B) The man injured Mark in a traffic accident yesterday.
C) The man met a friend by chance.

D) The woman contacted Mark on business.
9. A) The man should stay up and watch the program.
B) The man should read something exciting instead.
C) The man should go to bed at eleven.
D) The man should give up watching the movie.
10. A) Students with a library card can check any book out.
B) Reference books are not allowed to be checked out.
C) Only students with a library card can check out reference books.

D) The number of books a student can check out is unlimited.

Section B

Directions: In this section ,you will hear 3 short passages. At the end o f each passage,you
will hear some questions. Both the passage and the questions will be spoken only once. After
you hear a question , you must choose the best answer from the four choices marked A),B),C)
and D). Then mark the corresponding letter on the Answer Sheet with a single line through

the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard,
11. A) To find out whether they take music lessons in their spare time.
B) To find out whether they can name four different musical instruments.
C) To find out whether they enjoy playing musical instruments in school.
D) To find out whether they differ in their preference for musical instruments.
12. A) They find them too hard to play.
P 6 P



13.

B) They think it silly to play them.

C) They find it not challenging enough to play them,

D) They consider it important to be different from girls.
A) Children who have private music tutors.

B) Children who are 8 or older.

C) Children who are between 5 and 7.

D) Children who are well-educated.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14.

15.

16.

A) Because there weren’t any professional teams in the U. S. then.
B) Because Pele hadn’t retired from the Brazilian National Team yet.
C) Because this fast-moving sport wasn’t familiar to many Americans.
D) Because good professional players received low salaries.

A) When it has a large number of fans.

B) When it plays at home.

C) When it has many international stars playing for it.

D) When the fans cheer enthusiastically for it.

A) It wasn’t among the top four teams.

B) It didn’t play as well as expected.

C) It won the World Cup.

D) It placed fourth.

Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17,

18.

19.

A) Students from America,

B) Students from England.

C) Students from Australia.

D) Students from Japan.

A) Those who know how to program computers.

B) Those who get special aid from their teachers.

C) Those who are very hardworking.

D) Those who have well-educated parents.

A) Japanese students study much harder than Columbian students.

B) Columbian students score higher than Japanese students in maths,




C) Columbian students are more optimistic about their maths skills.
D) Japanese students have better conditions for study.

20. A) Physics.
B) Mathematics.

C) Environmental science,

D) Life science.
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Part 1 Listening Comprehension(20 minutes)

Section A

Directions;: In this section, you will hear 10 short conversations. At the end of each
conversation sa question will be asked about what was said. Both the conversation and the
question will be spoken only once. After each question there will be a pause. During the
pause s you must read the four choices marked A),B),C) and D) ,and decide which is the
best answer. Then mark the corresponding letter on the Answer Sheet with a single line
through the centre.
1. A) The man thinks traveling by air is quite safe.

B) The woman never travels by plane.

C) Both speakers feel nervous when flying.

D) The speakers feel sad about the serious loss of life.
2. A) At the information desk.

B) In an office.

C) In a restaurant.

D) At a railway station.
3. A) Write the letter.

B) Paint the shelf.

C) Fix the shelf.

D) Look for the pen.
4. A) Tt gives a 30% discount to all customers.

B) It is run by Mrs. Winter’s husband.

C) It hires Mrs. Winter as an adviser.

D) It encourages husbands to shop on their own.
5. A) Long exposure to the sun.

B) Lack of sleep.

C) Too tight a hat.

D) Long working hours.



6. A) His English is still poor after ten years in America.
B) He doesn’t mind speaking English with an accent.
C) He doesn’t like the way Americans speak.

D) He speaks English as if he were a native speaker.

7. A) An auto mechanic,

B) An electrician.
C) A carpenter.
D) A telephone repairman.

8. A) They both enjoyed watching the game.

B) The man thought the results were beyond their expectations.
C) They both felt good about the results of the game.
D) People were surprised at their winning the game.
9. A) Manager and employee.
B) Salesman and customer.
C) Guide and tourist.
D) Professor and student.
10, A) Tom has arranged a surprise party for Lucy.
B) Tom will keep the surprise party a secret,
C) Tom and Lucy have no secrets from each other.

D) Tom didn’t make any promise to Lucy.

Section B Compound Dictation

Directions: In this section ,you will hear a passage three times. When the passage is read for

the first time ,you should listen carefully for its general idea. When the passage is read for

the second time ,you are required to fill in the blanks numbered from S1 to S7 with the exact

words you have just heard. For blanks numbered from S8 to S10 you are required to fill in

the missing iﬁformation. You can either use the exact words you have just heard or write

down the main points in your own words. Finally,when the passage is read for the third
time , you should check what you have written.

The human body is a remarkable food processor. As an adult, you may consume (S1)

a ton of food per year and still not gain or lose a pound of body weight. You

are (S2) harnessing, and consuming energy through the intricate (S3)

of your body in order to remain in energy balance. To (S4) a

given body Weight,your energy input must balance your energy output. However, sometimes

the (S5) energy balance is upset, and your (S6) body weight




will either fall or (S7)

The term body image refers to the mental image we have of our own physical appea-
rance, and ( S8)
Research has revealed-that about 40 percent of adult men and 55 percent of adult women are

dissatisfied with their current body weight, (S9)

. At the college level,a study found that 85 percent of both male

and female first-year students desired to change their body weight. (S10)

Thinness is currently an attribute that females desire highly. Males generally desire
muscularity. The vast majority of individuals who want to change their body weight do it for
the sake of appearance: most want to lose excess body fat while a smaller percentage of

individuals actually want to gain weight.




XS HFE AR HXE (2001 4£6 A)

Part 1 Listening Comprehension(20 minutes)

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each
conversation sa question will be asked about what was said. Both the conversation and the
question will be spoken only once. After each question there will be a pause. During the
pause s you must read the four choices marked A),B),C) and D) ,and decide which is the
best answer. Then mark the corresponding letter on the Answer Sheet with a single line
through the centre.
1. A) He will tell Mary how to operate the dishwasher.

B) He will wash the dishes himself instead.

C) He will help Bill to translate the manual.

D) He himself will operate the dishwasher.
2. A) Lose weight.

B) Quit smoking.

C) Weigh himself frequently.

D) Have a talk with the doctor.
3. A) The woman should have complained to her neighbor.

B) The woman should stay out until the neighbors are quiet.

C) The woman should have stayed at the library.

D) The lab will be a better place for reading.
4. A) Check the figures later today.

B) Do the calculations again tomorrow.

C) Bring a calculator tomorrow.

D) Calculate the number right now.
5. A) She doesn’t remember much about the city.

B) She’s never been to the city.

C) She would find someone else to help.

D) She would talk to the man later.

12 —



